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Please read the following instructions before starting the exam.

1. You have 1 hour and 15 minutes to finish this exam.  Plan your time wisely.

2. The test consists of 16 multiple choice questions (worth a total of 96 points) and 2 problems (worth a total of 100 points).  The remaining 4 points are given.

3. You should have 8 numbered pages in your exam.

4. You are to complete the exam individually.

5. You may use pencils, pens, and a calculator to complete this exam.  All other items must be placed under your desk.

6. There are blank pages provided for your answers to the problems and a scantron for your answers to the multiple choice questions.  Please put your name on the scantron.

7. Show all of your work for maximum partial credit.

8. In fairness to all students, I can not answer any questions during the exam.  

9. Do not begin the exam until you are instructed to do so.  

Good luck.
Multiple choice questions (6 points each, spend on avg. 2.5 minutes per question)

Choose the best answer for each of the following.

1. Debt covenants, including liquidity and solvency ratio requirements, are used in debt contracts to influence and control  the investing, financing, and operating decisions made by:

a. Equity investors.

b. Debt investors.

c. Auditors of the company.

d. Managers of the company.

e. Day traders.

2. Which of the following is true regarding International Accounting Standards.

a. IAS statements carry the same weight as FASB or SEC rules for firms reporting in the United States.

b. A globally accepted set of International Accounting Standards does not currently exist.

c. Capital markets in all countries operate under a common set of reporting requirements for audited financial statements.

d. The SEC has the authority to issue International Accounting Standards that must be complied with by firms operating in any country.

e. The International Accounting Standards Committee is under no political pressure.

3. Brown Mining Company and Red Mining Company are competitors.  Which qualitative characteristic of accounting information is necessary for prospective investors who wish to determine which firm would be the best investment?

a. Understandability.

b. Verifiability.

c. Comparability.

d. Consistency.

e. Feedback value.

4. Gulf Coast Travel Company (GCT) is in the middle of a public relations nightmare because of a rising number of shark attacks close to its family resort.  Lawsuits are threatened because shark experts have linked Gulf Coasts' once popular "feed the sharks" cruise to the increased number of hungry sharks in the area.  If at year-end 2001, GCT's attorneys and accountants can reasonably estimate that it will cost $500 million to settle lawsuits, pay attorneys, etc., GAAP requires that GCT record a loss for the year 2001 and record a liability for these future costs.  The concept underlying this GAAP requirement is:

a. Rationalization.

b. Comparability.

c. Matching.

d. Conservatism.

e. Verifiability.

5. Assets are the only financial statement element that can be defined outside of the other 10 financial statement elements.  The definition of an asset includes all of the following except:

a. Probable future economic benefit.

b. Evidence of a past transaction.

c. Evidence of future sacrifice.

d. Reliably measurable in monetary terms.

e. Evidence of ownership and/or control.

6. Suzanco’s  Accounts Receivable balance at 12/31/98 was $110,000.  The beginning balance at 1/1/98 was $120,000.  During 1998 year, Suzanco recorded Credit Sales of $370,000.  What was the amount of Cash Collected from Customers for 1998?

a. $320,000.

b. $380,000.

c. $30,000.

d. $270,000.

e. $350,000.

7. You come across the following information regarding the inventory transactions for 1998.  

end of year

beg. of year
Inventory account balance

$200,000

$125,000

Cost of goods sold


$400,000

Accounts payable


?


$260,000

Cash paid to suppliers during year
$415,000

The balance in accounts payable at the end of the year, assuming all purchases were made on credit should be?

a. $170,000

b. $295,000

c. $320,000

d. $475,000

e. $675,000

8. Tinky-Winky’s committed to sell its Dipsy division for $800,000 on October 1, 2001.  The book value of Dipsy’s assets at October 1 was $900,000.  The closing date on the sale is expected to be March 15, 2002.  Year-to-date operating results for Dipsy were a loss of $30,000 through October 1 but operating results for the rest of 2001 resulted in income of $10,000.  Tinky-Winky estimates that Dipsy will lose an additional $20,000 from January 1 through March 15 of 2002.  The tax rate is 30%.  The correct amount to be reported in the Tinky-Winky income statement for 2001 as discontinued operations is:

Income(loss) from


Gain(loss) from disposal

Discontinued operations


  a.
($30,000)



($115,000)


  b. 
($21,000)



($ 63,000)

          
  c.
($21,000)



($ 77,000)


  d.
($9,000)




($ 37,000)


  e.
($14,000)



($84,000)

9. The Daily Delicious had 50,000 shares of common stock outstanding throughout 1999.  Income before taxes was $170,000.  There were no discontinued operations, extraordinary items, or changes in accounting principle to report.  The tax rate was 40%.  EPS for net income is:

a. $2.00

b. $2.04

c. $3.40

d. $1.36

e. $1.00

10. Recently, the Wall Street Journal has had several articles discussing the Revenue Recognition practices of Internet companies.  These companies often seem to be judged by potential investors on the basis of revenues alone.  An official of  Healtheon/WebMD responded to questions regarding his company's unusual revenue items by saying "..it was a one time thing plus the recording of revenue was cleared by our auditors".  What was the auditors' role?

a. The auditors were primarily responsible for Healtheon/WebMD's financial statements.

b. The management of Healtheon/WebMD paid the auditors to prepare the financial statements.

c. The auditors rendered a clean opinion as to the fairness of presentation of the operations, financial position, and cash flows, based upon conformance to GAAP.

d. The audit partners were big investors in Healtheon/WebMD so they would have decided how to record the revenue.

e. The auditors cleared out the revenue accounts in the closing process.

11. Which of the following actions would increase the debt-to-equity ratio?

a. paying off a note payable

b. selling equipment at a gain

c. selling inventory on credit

d. purchasing equipment on credit

e. issuing new shares of common stock.

12. Which of the following would be an operating cash flow?

a. paying dividends

b. receiving dividends

c. paying off long-term debt

d. issuing stock

e. issuing bonds

13. The account Income Summary is used:

a. Throughout the year to keep track of different types of revenues.

b. Only by firms that actually have income for a given year.

c. Only in the closing process.

d. As a permanent account in the Owners’ Equity section of the balance sheet.

e. To keep individual investors' stock price appreciation recorded on the books.

14. In order to be reported as an extraordinary item, an event must be :

a. either an extremely large gain or an extremely large expense item.

b. both infrequent and unusual in occurrence.

c. either infrequent or unusual in occurrence.

d. unexpected and uninsured.

e. probable and reasonably estimable.

15. Equity investors that are interested in finding out the amount of income generated per total dollars invested by debt and equity investors would most likely use the :

a. Current ratio

b. Debt/equity ratio

c. Return on equity ratio

d. Return on asset ratio

e. Inventory turnover ratio

16.  Which of the following is not  true regarding Comprehensive Income?

a. Net income is one part of Comprehensive Income.

b. Other Comprehensive Income represents other changes in owners' equity not involving transactions with owners.

c. Prior period adjustments are specifically excluded from Other Comprehensive Income.

d. Accumulated Other Comprehensive Income is shown in the owners' equity section.

e. Comprehensive Income can NOT be reported on the income statement.

Problem 1 (75 poitns) - Carefully read the problem below. (expected time: 20-25 minutes)

You are the assistant controller for Gogirl's and have been given the task of preparing the financial statements for the year ended December 31, 2000.  Gogirl's is a retailing company that sells trendy clothes to middle school girls.  Stores are located throughout the United States.  In addition, Gogirl's owns 45% of a WNBA team located in Las Vegas, the Divas.  You  have only been with the company for 6 weeks and you make $68,000 per year.  The CEO and CFO of Gogirl's both have compensation contracts that pay them as follows:


ROA * $100,000,000 = the bonus pool


The bonus pool is split 60/40 between the CEO/CFO

During the last two years, the Divas have seen quite a decline in profitability.  In fact, the losses have been progressively bigger in each of the last two years (1998 and 1999).  Because of this trend, management decided on May 30, 2000, to get out of the basketball team business and the interest in the Divas was sold the next day.  

The CFO has indicated to you in a memo dated December 31, 2000 that , in her opinion, the selling of the Divas should be reported separately from the continuing operations of Gogirl's in the 2000 financial statements.    Your auditor, I.M. Picky, believes that the CFO just wants to increase her bonus.  He says the sale should be reported as part of continuing operations in the 2000 financial statement.

The following information relates to the Divas:

On May 31, 2000 the investment in the Divas was sold for $18,000,000.  The investment had a carrying value of $22,000,000 at May 30.  Through May 31, 2000, the Divas investment had pre-tax operating losses of $(1,000,000).  The Divas had pre-tax losses of $(900,000) for the entire 1999 year.

The following information relates to Gogirl's:

2000 Income from continuing operations is $11,000,000, before considering any Diva results




2000

1999
Gogirl's total assets 

$200,000,000
$184,000,000

(excluding the Diva investment)

Gogirl's tax rate is 30%.

Required:
1) (30 points)  Using your knowledge of the rules regarding the reporting of discontinued operations, respond to the auditor's statement (indicate your position and  how you would determine where the disposal of the Divas should be reported).  Explain your position briefly, using what you know about GAAP.

2) (30 points)  Compute the amount of the CFO's bonus related to 2000 results under each of the two possible disposal treatments (treat Divas sale as discontinued operations OR treat Divas sale as part of continuing operations).  Show your work for maximum partial credit. (Note: Compute ROA to three decimal places.)

3) (15 points)  Demonstrate your understanding of the quality of relevance for decision making.  List one piece of information from the above problem that is relevant to answering either requirement 1 or 2.  Also, list one piece of information from the above problem that is irrelevant to both requirement 1 and 2.

Problem 1 work page (intentionally blank)

Problem 2 (25 points) (suggested time: 5-10 minutes)

The following account balances were taken from the 2000 December 31, year end Unadjusted Trial Balance for Robert Company:






2000 Unadjusted Trial Balance






  debit

credit

Prepaid rent




$ 81,000

Note payable






$100,000

Wages payable






$ -0-

The following information is also available.

1. On July 1, Robert Company paid $81,000 for 3 years of rent.  There were no other entries made to this account during the year. (Austin Company does not use the expedient accounting method)

2. The note payable is a 4 year note due on November 1, 2001 that bears an annual interest rate of 6% with interest paid semi-annually on May 1 and November 1.  No adjustments have been made since the November 1 interest payment.

3. Salaried employees are paid on the 4th day of the following month.  Total salary payroll for the month of December shows $400,000 earned in the month of December.

Required:

Prepare, IN PROPER AND COMPLETE FORM, any adjusting journal entries necessary at December 31, 2000.  Include the following as appropriate (A↑↓, L↑↓, OE↑↓, R↑↓, E↑↓).  Show calculations for maximum partial credit.
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